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Carry out each of the following integrations.
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Question 2

Carry out each of the following integrations.
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Carry out each of the following integrations.
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Question 4
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Carry out each of the following integrations.
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Question 5
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Carry out each of the following integrations.

10.

9

5x* —8x+1 (32) 5

—— 5 dx=In| — |-—
o4 2.X'()C—1) 3 24
.1 x2

> dx=1—-In3
Jox —4

@5

o1

] (x+1)(x-|1-2)(x+3) d’“:m@

i dx=3In3-3In2

o4

@6

Jo (x+1)(x+3)(2x+1)

13—-2x
Jo (x+4)(2x+1)

dx=4In3-3In2

2x* = x+11

2

dx=4+4In3-31n2

). G2y

25x+1 16

dx =—

2
2x
2

o5

3

x-—16

Jo (2x=1)(x+1)° 3

dx=6+4In3

x*=3x+5 1
Jo(4—x)(1-x)

> dx=—+In2
9

dx =

64

(24X —12x% —22x-3 ] (5)
In -6
v (4_

x)(2x+1) 2

Created by T. Madas



Created by T. Madas

q wena S

Yo%t | Wic 8 ’

{@ea)en) + Bl dfocei) + o

= (o) s - bl

wetotra | x

¢ Fonw

. N L,
7 ‘ et S ) % )
‘ a3 o N =) G092 4= ) 3
: i ) e AGe B 2 L |
A\ | Yol = AQ vLH’M ) ((4a)( /
oadey 0 | :
AR e & Yoozt 3s 3=1) )
oifay 9z ak A=1) /
‘ /
e I *Kaso, 5= 4 bR G
L =x i |

= | ok Unbey

Created by T. Madas



